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5. A book cost ksh.3,600 when bought in cash. A customer bought at hire purchase by
making a down payment of ksh.1,000, then a ten monthly instalments of ksh.300 per
month. Calculate the rate of interest per month. (3mks)

6. Using the line below, measure out Line AB of length 3cm, construction one side of line
AB the locus of a point P such that <APB=30°. (3mks)

7. Akinyi bought maize and beans from a wholesale. She then mixed the maize the maize
and beans in the ratio 4:3. She bought the maize at ksh.21 per Kg and the beans at ksh.42
per Kg. if she was to make a profit of 30%, what should be the selling price of 1Kg of the
Mixture. (3mks)

8. Expand and simplify the expression (2+3x)° to the power of X? hence use your expansion
to solve (1.91)° to 1 decimal place (4mks)












Section 11

17. Mr Onyango is an employeee and earns a basic salary of kshs.20,000. In addition he gets,
medical allowances os ksh. 2,500, house allowance of ksh. 2,000 and a non-taxable risk
allowance of ksh. 2,000. He is entitled to a personal relief of ksh.1,056 per month. His
other deductions include Sacco loan of ksh. 10,000, water and electricity of ksh. 2,500.
Using the table below , calculate

Income in kenya pounds per annum Rate in shs/pound

1 -5808
5809 - 11280
11281 - 16752
16753 - 22224

Over 22224

NN A LN

(a) Taxable income in Kenya pounds per annum. (2mks)

(b) Calculate his P.A.Y.E in Kenya shillings. (5mks)

(c) Calculate his net pay. (3mks)









20. The figure below represents a prism with a cross section of an equilateral triangle of side 7cm and
length 13cm, as shown below.

F
E
A c
B
(a)  Calculate the angle between line EB and the plane ABCD. (2mks)
(b)  Calculate the angle between the plane ABCD and the line BF. ‘ (2mks)
()  Misthe midpoint of EF. Calculate
(i) The length BM (2mks)
(ii) The angle between theline BM and the plane ABCD. (2mks)
(d)  Calculate the angle between the plane ABM and the base plane ABCD. (2mks)
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22.  Acertain uniform supplier is required to supply two types of shirts: one for girls labelled G and the
other for boys labelled B. The total number of shirts must not be more than 400. He has to supply
more of type G than of type B. However the number of type G shirts must not be more than 300

and the number of type B shirts must not be less than 80. by taking x to be the number of type G
shirts and y the number of type B shirts,

(a) Write down in terms of x and y all the inequalities representing the information above. (2mks)

(b) On the grid provided in the next page draw the inequalities and shade the unwanted regions.

(4mks)

(c) Given that type G costs Shs. 500 per shirt and type B costs Shs. 300 per shirt. Use the graph in
above to determine the number of shirts of each type that should be made to maximize profit.

(2mks)
(d) Calculate the maximum possible profit. (2mks)
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